1.

2.

U Aele] ol o2 tehd 4 gl & Fold B4

£ nE 5L

rt
Jo
rsh
flo

O

o] 7427} 0 o o}

0e F s

® {z| 2k Qo) A ] 247} 18] &)

@ {z|rE22 Y52 v UwA7}1 9

]-I_T}
® {z |z 8Kl & 89 off}

@ [z] 2% 5 A2 29] ¥l)

O {z|ael<z<2? 75}

A% p, g o ARFAFTE 792 4 W, p, ¢ 9
ops-0] A48 Fatoiet.

oH all

Ads}, B ={y|
dheto] n(B) & Tstoler.

%@@Az{z\x:2xn, n<

y <20}l

FA? A Bt B={b,¢c,d, e}, ANB = {c,
e}, AUB={a,b,c,d,e, f} @0, At A =7

@ {a,c, e} @ {a,c, f}
® {a,c, e, [} @ {a, b, c, f}
® {a, b, e, f}

AAHT U = {1,2,3,4,5} o] T REAY 4 =
{1,3,5}, B = {2,5} °ll ts}o]

(AUB°C X,(A-B)‘NX =X & W=s51= A
X 9] H4=9

® 2 7} @ 4 7 ® 8 7H

@ 16 7N ® 32 7

At A={3,5,a+1},
{8,a+4,2xa+ 1,16}
( U(B-A4) =?

ookl AN B = {8}

@ {3,5,7,9} @ {3,4,5,7}

® {3,5,8,11} @ {3,5,11,15,16}

® {3,5,8,11,15}

A A = {alrt 10 oI5Fe] S5} o] REYY S
A3 9 Fg BT B FEYYE ASE T

sholat




0 2 PRl iA7) s 8 2 R A, T 2
W U A7 6, 6 08 eE U ATt 5, 5 2
B L EMPREEEE PR PORTES

oot
10. AAFF U = {z | 2= 20 0|5} A4AL) o] & 7
BH3 A, B ofl thsted n(U) = 50, n (AU B) = 38,

n(AﬂB) =9, n(B—A) =16 € 1, n((A - B)°)

<[]l okl A%7t 15 A W, [ <

11. 54
a5 Ftoiet

Solz % gl 7V AL

S

Lo

{z]oE 4689 2904} & o, 4]
M5 F-stofet.

12, gt A=
LERE

4

LY A" A = {z | 2= 369 &=}, B = {x |
xtG—J i) C = {z | 2= a9 &5}, D = {z |
z= a® v} ol tiste] ¢ c A, D c B 7} B4l
A™st7] 917t o O gh& 25 Fstolet (Ha > 0)

ol 24, ARTUH47E 3, AAFHS7F 45

A2 Fofelet




